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COMPARING NUMBERS
When the number of digits is different

Who has more bananas?

Mumbo has 59 bananas.
——

A 3-digit number is greater than a
T 2-digit number. ~
‘5.‘ 9 - So, 470 is greater than 59.
@; @ /9, R ‘3_-digit number Jumbo has more bananas than Mumbo.
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Circle the smaller number.
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When the number of digits is the same

- DIFFERENT DIGITS IN THE HUNDREDS PLACE
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Jumbo has 452 bananas. Mumbo has 701 bzinanas. Who has less bananas’
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‘L 4 is smaller than 7. ——T | So, 452 is smaller than 791-

? has léss bananas than .
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SAME DIGITS IN THE HUNDREDS PLACE

Jumbo has 642 bananas. Mumbo has 617 bananas

. Who has more bananas?

O
5 The digits in the hundreds place are the same.
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Compare the dlgltS in the tens place (
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4 is greater than 1.

So, 642 1S greater than 617
Q has more bananas than §3.

SAME DIGITS IN THE HUNDREDS AND TENS PLACES
Jumbo has 193 bananas. Mumbo has 196 bananas. Who has less bananas?
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The digits in the hundreds and tens place are the T 9
\% same. Compare the d1g1ts in the ones place. ,9- @
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3 1s smaller than 6.
So, 193 is smaller than 196.

Q has less bananas than #5..
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A. Fill in the blanks.

The park has 375 roses
and 500 marigolds. 2354600
~ The _troser  are less in number. 320 alse

N

In the park1 f lot there are 230 red cars and 215 white cars.
. cars are more than the _lok.de  cars.

\

B. erte True or False.

__24,_7_is a 3-digit number. Trwe,
o £ive hundred five is. written as 5005. - jr (; [é 2 .
©~ Ten more than 801 is 901 \
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